36:9-4= 1,
36:(9-4)= 1
24:3+5= 13
24:(3+5)= 3



80-64:8 =79
16 + 9:6 =79

(30+26):8=+~
7-(40 - 34) = 4,



18'3= 54
32-2= 64
48:4= 12

48:3= 16
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MHOXUTEeNb
[lpon3BegeHmne 15 54 64



18-4=72

[lpoBepkKa:
1)72:4=18
2)18=18



17-5=85 14-6=84
[lpoBepKa: [lpoBepkKa:
85:17=5  84:14=6
9=5 6=6



LleHa Konmnyecteo O6uwas
CTOMMOCTb

CTonoBas
JIOXKKA 1 7|3 3
} ?

YarHasa N1oXKKa

13p 3






| BapHaHT [l BApUaHT
36:12= 36:18=
48-3-7= 6-9-38=
63+81:9= 47-54:6=



[lpoBepKa

| BapHaHT
36:12=3
48-3-7=27
63+81:9=72

Il BApUAHT
36:18=2
6:9-38=16
47-54:6=38



27-3=81
81:27=3
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